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QUESTION 1

Which selection is associated with the Review Task of the Engagement Lifecycle? (Choose the best answer.) 

A. Gather and document requirements, assumptions, and constraints. 

B. Build, deploy, implement, and test the design. 

C. Measure performance against customer\\'s objective. 

D. Create and document the logical and physical design. 

Correct Answer: C 

 

QUESTION 2

Which two benefits can be achieved using in-band management of an NSX Bare Metal Edge Node? (Choose two.) 

A. Reduces storage requirements. 

B. Reduces cost. 

C. Preserves packet locality. 

D. Reduces egress data. 

E. Preserves switchports. 

Correct Answer: BD 

 

QUESTION 3

A Solutions Architect is designing an environment with 1,200 services being offered through the NSX-T Data Center
Load Balancer. 

Which three selections are necessary to meet the minimum requirements to support the solution? (Choose three.) 

A. Extra Large Load Balancer 

B. Tier 1 Gateway 

C. Tier 0 Gateway 

D. Large Edge Node 

E. Extra Large Edge Node 

F. Large Load Balancer 

Correct Answer: BDF 

3V0-42.20 Study Guide | 3V0-42.20 Exam Questions | 3V0-42.20 Braindumps                                2 / 4

https://www.passapply.com/3v0-42-20.html
https://www.passapply.com/3v0-42-20.html
https://www.passapply.com/3v0-42-20.html


https://www.passapply.com/3v0-42-20.html
2024 Latest passapply 3V0-42.20 PDF and VCE dumps Download

 

QUESTION 4

An architect is helping an organization with the Logical Design of an NSX-T Data Center solution. 

This information was gathered during the Assessment Phase: 

Customer is concerned with NSX Manager availability. 

3 cabinets/racks are available in the data center. 

No integration with 3rd party solution is required. 

There is no budget for physical equipment acquisition. 

The 3 cabinets/racks do not share the same L2 domain. 

Which three selections should the architect include in their design to address the customer\\'s concern with 

NSX Manager availability? (Choose three.) 

A. Deploy 2 cold standby NSX Manager appliances in rack 2/3. 

B. Use separate IP per NSX Manager appliance per rack. 

C. Use another NSX Manager IP in case an appliance fails. 

D. Deploy a single active NSX Manager appliance in rack 1. 

E. Deploy an NSX Manager Appliance per rack and cluster them. 

F. Use a physical/internal load-balancer with the cluster. 

Correct Answer: ADE 

 

 

QUESTION 5

What is a design justification for a solution with 3 NSX Manager nodes deployed in a 4 ESXi cluster Management
Cluster? (Choose the best answer.) 

A. NSX Controllers are separated from NSX Managers allowing 6 ESXi servers to host them. 

B. NSX Management Plane and Control Plane will be reduced to a single point of failure. 

C. Compute consumption guarantees NSX Manager nodes can be run on the same ESXi host. 

D. Single point of failure on Control Plane and Management Plane will be mitigated. 

Correct Answer: B 
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